(9000 FOODAY ~

MDD NN
DNV V1P NI

>y
f://z/l ’//1 ( ovn

AT

NN - N12122 0212 NN 547\03\51 '0N N"13N2?2 0201 NDJ0N] NMIRRRN N218

N YO0 MO TN ORN T 7 i e Y Aot 62 TIT PRDD 00T UM oo 00 NyYIN o YT 75T . RS TN FOM TD A7 T 19 7 78 %3 910 T iTOo are Tt

¥3T 1M 0323 1¥D TV 1Tl
Ry om mmmmmmmimmﬂﬂ'mmnmnnw w | w mwmmr‘?w-r;l: nmmmmmum“':":::' L I T
(Ll wgmn | g [ €0 0 O T e | | o wn | oeenn CR T e [ranm W eonn] o [RTOEH PN Gy o0 [
Ll S I |
sas7ex| 19473 24 | V0298 yyy pam n
[Tw o9 [Frvopn 30 22145 m| = 1002 \wow L |NTH ) H iy g W 28026 | S13.009 24 [00298] 1
13421 | 2972 Fmye| vasefeTe o LT
818752 | 8853 w24 | 00296] oy nam
'Tw) 9 (PPN 35 11.078 w | w= 1002 - == Rl 9,042 [2182.238 1 | vosw| 2
waz7| 223 7 4 | 003T[BTR M bon Tt
85.573:| 8.855 @) 1] 0030 ey o
T R0 37D 13109 | = 100% - == e 6469 |226.338 4 foomo) 3
SAZTR| 4Da4 o 2| w03 r1
999322} 1.7 w7
T Ui g 1,762 - m!nl;;“:g, 1002 - — [meyE Aoes | 93,723 v | oo 4
.08 8 o g
XT3 MR — _ nrnl
W BR[Opn I 100% | 20.318 | 20.08 o = () 7 03Ty ren gy 100 Lid 17,200 | 27.443 0 {womw| S
99.120% | 20,945 [l o o
o runvopn K| 2113 = | wm 0037 100% o o 17325 | 43,205 3 [woano| ¢
ooz | 126 vme pRIEn IR
sganz | 2248 o 4
Jt; 0030] rem T 100 - — |rwam o3 | 96273 3 |ooo|?
Imvoan 2302 | 993 oo
e na:r:’n 37,759 m | o
as.700| 17.200 o
WO 2| 003D, %m 1002 - — [T rn 7.293 [9770.574) 2 nosn| @
as83z| 17230 (33 TV "TIT
97.29%:| 7.509 o 7 7 nem
W APRITOON 3D 2.800 e | e 0031 100% - - "W 367 | ST & | 0odn| @
27082 | 2n =Y TR o
[T ™
‘W arnnwpn snp| 1002 | 4951 | 4951 o | w0 (pme| 00| mows T 1002 G A (N T R e Ay 61,101 3367.309) 7 | wosn{®
et 18| TR ) T
/‘ 14072 387 1
g0 em %r;lgl 100 - - -T.fﬁ 15.692 | 47.016 9 | oo M
870z| 2749 | 3,
e KrRimwopn sl 3 3,368 | = (W2 o3t
oy | 2w @9
Lid ol 8. 240K %7 T8
Zmz| 7| o, o 7
. |
e T | e [ hutll Baad == el
78582 | Aot3 36
wor trojrowe 1| 1002 | 10106 | 10108 wa | wez jom 9| woin|
167.583 167.583 ")E]
o5 I L] _fTw AT O
T™N e s TN DU
L
Lo
Al W
e B
\"G(\, [
\ W
o B




